
I DON"T KNOW HOW TO LOVE HIM

  Tim Rice & Andrew Lloyd Webber 
 Arrangement by Fedor Vrtacnik

from
JESUS CHRIST SUPERSTAR






















I DON"T KNOW HOW TO LOVE HIM

  Tim Rice & Andrew Lloyd Webber
 Arrangement by Fedor Vrtacnik

JESUS CHRIST SUPERSTAR

Flute  1

Flute 2

Oboe  1

Oboe 2

Clarinet in Bb  1

Clarinet in Bb 2

Bassoon 

Horn in F  1

Horn in F 2

Horn in F 3

Trumpet in Bb 1

Trumpet in Bb 2

Trumpet in Bb 3

Trombone  1

Trombone 2

Trombone 3

Triangle

Cymbals

Drum Set

Piano

Guitar

Bass Guitar

Mary Magdalena

Violin I

Violin II

Viola

Violoncello

Contrabass

Slowly, Tenderly and Very Expressively
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